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1. Complete each calculation :-

2. Show all your working.

a 45 shirts were stored equally on 5 shelves.

How many shirts were on each shelf ?

b A bowl containing 59 cherries
was split equally into 5 small bags.

How many were in each small bag
and how many were left over ?

cherries

left over
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3. Complete each calculation :-
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4. Show all your working.

a A bag can hold 5 bowling balls.
78 bowling balls were packed equally.

How many balls were left over ?

........... left over

b Carol, Danni, Jen and their two

friends share 65 Scrunchies equally.

How many Scrunchies will each girl get ?

Show this to your teacher, then go to page 55 Exercise 4
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